Quiz for Unit 8

1. Vocabulary and structure

Directions: There are 20 incomplete sentences in this part. For each sentence there are four choices marked A), B), C) and D). Choose the ONE answer that best completes the sentence . Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

1. There’s little chance that mankind would ______ a nuclear war.(1993.6 CET-6)

A. retain B. endure C. maintain D. survive

2. I want to buy a new tie to ______ this brown suit.(1989.1 CET-4)

A. go into B. go with C. go after D. go by

3. The student was just about to ______ the question, when suddenly he found the answer.(1995.6 CET-4)

A. arrive at B. submit to C. work out D. give up

4. Purchasing the new production line will be a ______ deal for the company.(2001.6 CET-4)

A. profitable B. tremendous C. forceful D. favorite

5. ______ the calculation is right, scientists can never be sure that they have included all variables and modeled them accurately. (1999.1 CET-4)

A. Even if B. As far as C. If only D. So long as

6. In 1914, an apparently insignificant event in a remote part of Eastern Europe ______ Europe into a great war.(1998.6 CET-4)

A. inserted B. imposed C. pitched D. plunged

7. The firm intends to build up a large ______ within the next five years.

A. property B. fate C. luck D. fortune

8. All the off -shore oil explorers were in high spirits as they read ______ letters from their families.

A. affectionate B. sentimental C. intimate D. sensitive

9. We should always keep in mind that ______ decisions often lead to bitter regrets. (1995 年考研题)

A. urgent B. hasty C. instant D. prompt

10. He will surely finish the job on time ______ he’s left to do it in his own way. (2001.1 CET-4)

A. in that B. so long as C. in case D. as far as

11. The motorist had to ______ to avoid knocking the old woman down in the middle of the road.

A. swerve B. twist C. depart D. swing

12. The synthetic vitamins are identical ______ those naturally present in our food.

A. for B. of C. as D. with

13. We must ______ our educational work among our own troops .

A. heighten B. intense C. relieve D. intensify

14. The prospect of increased prices has already ______ worries .

A. provoked B. irritated C. inspired D. hoisted

15. The Olympic Games ______ in 776 BC in Olympic, a small town in Greece.

A. originated B. stemmed C. derived D. descended

16. She had on the dress that I used to admire more than anything else in her possession a light blue one ______ prettily with lace.

A. ornamented B. trimmed C. furnished D. decorated

17. After discussing the matter with the bank manager, Peter ______ received his loan.

A. instantly B. instinctively C. casually D. unexpectedly

18. The purpose of the survey was to ______ the inspectors with local conditions.

A. inform B. notify C. instruct D. acquaint

19. The patience progress was very encouraging, as he could ______ get out of bed without help.

A. nearly B. hardly C. merely D. barely

20. The government fights firmly against the ______ of land that is most privately owned.

A. enclosure B. disclosure C. exposure D. Encounter

II. Fill in the following blanks with correct adverbs or prepositions.

1. Forty years had passed ______ since they had met.

2. Even ______ he is ill, he still goes to the office.

3. They succeeded ______ landing on the moon .

4. Her grandson cheered ______ at once when she promised to buy him a toy.

5. As the months went ______, we gradually got familiar with the stranger.

6. Teachers are compared ______ gardeners.

7. Have you tried ______ your coat?

8. The night watchman is in the office ______ case there is a fire.

9. If you intend to go to the picture, you had better get the ticket ______ advance.

10. Please explain it once ______.

III. Read through the following paragraph trying to get the main idea. Then, read it again to get the

details that support the main idea.

PASSAGE 1

   (1) A mysterious light shines from a peak in southwest Texas. (2) Nearby settlers saw this light about eight years ago, and travelers along Highway 90 between Alpine and Merfa, Texas, still report seeing it. (3) The light does not always shine from the same place, but moving from point to point on the peak. (4) So far, no one has solved the mystery of the Texas ghostlight.

   (5) Often, strange brown lights have been seen in the deep valley below Blowing Rock, North Carolina. (6) These also move about. Scientists have tried to solve this mystery too, but without success.

   (7) One day, recently, a woman who lives in a house high above this valley was resting in bed. (8) The sun was shining.(9) There was not a cloud in the sky. (10) The window was raised several inches. (11) Suddenly a ball of light forced its way through this window opening, knocked the woman unconscious and burned her in a way no doctor had ever seen before.

PASSAGE 2

   (1) One day in the early 1920’s a crowd was gathered at Fort Bliss to watch the airplanes. (2) As one airplane was rolled out, a grandmotherly old woman asked if she could have a ride in it. (3) Leaning on her stick, the thin old lady dressed in black made her way to the plane. (4) She was helped into the cockpit (座舱)and then carefully strapped into the seat. (5) The pilot went up to the nose of the plane and gave the propeller a turn. (6) As he did so, his feet slipped and he fell flat. (7)

Before he could get up, the airplane, with no one on it except Grandma, went moving quickly down the field, sailed into the air, and headed for a row of trees. (8) Men gasped (喘气)in horror. (9) Women screamed. (10) The plane climbed above the trees and started for the stars, but rolled over on its back and fell toward the field. (11) In the last few seconds it righted itself, ran crazily across the field, and stopped. (12) The little old lady was really a young man, Clarie Chenault, who later

became the famous commander of the Flying Tigers.
Key to Quiz for Unit 8

I. 1. 本句的意思是：“人类经历一场核战争而能——，这种可能性是很小的”。空格中应是表示“幸存”这一意思的及物动词，因此选项D survive 是答案。这道题比较容易，71% 的考生都做对了。survive 作及物动词时可表示“从…逃出、幸免于”或“( 经历灾难后) 活下来”。例如：Only two children survived the fire. 这场大火中只有两个孩子幸免于难。The plants survived the frost. 经过严寒，这些植物还是活下来了。有16% 的考生误选B endure, 少数考生误选了C maintain 或A retain 。这些考生的成绩都较差。endure意为“忍受、容忍”，相当于to bear pain, suffering, etc.，主要指忍受疼痛、折磨等。例如：I can’t endure street noises. 我忍受不了街道上的嘈杂声。maintain 意为“维持、保持”，相当于to continue,to keep or preserve. 例如：It isn’t easy to maintain life in the desert. 沙漠中不易维持生命。He maintained his interest in music and painting all his life. 他一生对音乐和绘画都有兴趣。retain 表示“保留、保持”，相当于to keep, to continue to have, 可作maintain的同义词。例如：He tried to retain his sense of humor.他努力保持他的幽默感。
2. 本句的意思是：“我想买一条跟咖啡色衣服——的新领带”。从所给的4个选项看，空格中应该是表示“相配”之意的词。go with 的意思是“与…相配”，因此C go with 是答案。例如：Brown shoes don’t go well with a black suit. 棕色皮鞋跟黑衣服不相配。That tie goes with your shirt. 那条领带跟你的衬衫很相配。64%的考生答对了本题。16%的考生误选了B go after. go after 意为“追求”。例如：She decided to go after the job. 她决心要谋得那个职位。10% 的学生误选了D go by . go by 意为“遵守、遵循”。例如：Don’t go by the book in cooking. 不要照着书本烹调。少数考生误选了A go into .go into 意为“调查、研究”。例如：We should go into the report thoroughly before we reach a decision.在我们做出决定之前要把这个报告彻底研究一下。
3. 四个选项看，空格中的词应该是give up。全句意思是：“那个考生正打算放弃这题时，突然找到了答案”。give up 的意思是“放弃”。例如：The puzzle is too difficult; I shall give it up. 这个字迷太难了，我将放弃。本题比较简单，70% 的考生都做对了。有21% 的考生误选了C work out 。work out 这个短语动词意为“想出”。例如：He has worked out the question. 他已得出这一题的答案。We must work out a better method of saving paper. 我们必须想出一个更好的节省纸张的方法。虽然work out 放入句中，在词语搭配上没有问题，但句子逻辑意义上不通。另外两个选项A arrive at 和B submit to 在意义和搭配关系上都有问题，误选的考生较少。arrive at 意为“作出，得出”。例如：What decision did they finally arrive at?他们最终得出什么结论?submit to 意为“提出，提交”。例如：We submit our plan to the committee. 我们向委员会提交了计划。
4. 选A。意为：购买这条新生产线对公司来说将是一项有利可图的交易。本题属于形容词辨析：A profitable“有利润的；盈利的”；B tremendous “巨大的”；C forceful “强有力的”；D favorite “最喜爱的”。
5. 选A。意为：即使计算准确，科学家也无法确保他们已经考虑到了所有的变量和模型的设立准确。本题属于连词辨析。从句意判断，这是一个让步从句，所以空格处应填 even if, 构成让步从句。
6. 选D。意为：1914年，发生在东欧偏远地区一件不起眼的事件使欧洲陷入一场战争。本题属于动词辨析：A insert“插入，嵌入”; B impose “征税，强加”；C pitch “投，掷，丢，弃”; D plunge “跳入，投入，陷入”。
7. 选D。fate “命运，运气”和luck “运气，侥幸”，显然不合题意；property 和fortune 都有“财产，财富”之意，但前者作此意讲时是不可数名词，前面不能加不定冠词a，因此也应排除，故答案应为fortune。
8. 选A。affectionate “深情的，充满情爱的”，常指亲人之间的情感；sentimental “伤感的，多愁善感的”；intimate “亲密的，亲切的”指不可分割的，充满深情的友谊；sensitive“敏感的”。由此可见只有A 才__能修饰家里的来信。
9. 选B。意为：我们应永远记住草率的决定常常会使人事后痛心疾首。本题属于近义词辨析。四个短语中的单词都是形容词，并且在意义上有相似点，即都表示“快，迅速”，但A urgent 一般表示“紧急的、急迫的、需要立即决定或行动的”，如：I want to talk to your manager. It’s very urgent. B hasty 意为“急忙的，过于匆忙的”，与said,made or done (too) quickly 同义，含有贬义色彩。C instant = coming or happening at once, 意为“即刻的，立刻的”，如：feel instant relief after taking a dose of medicine, 也可表示“紧急的”与urgent 同义，如in instant need of help, 或指食品“可速食的”，如 instant coffee。 D prompt = acting, done, sent, given without delay, 意为“迅速，敏捷，即时的”，如：a prompt reply, prompt payment 。所填词在本句中修饰decisions, 同时由bitter regret 知道这一“决定，决策”导致了不良的后果，是贬义的，所以选B hasty。
10. 选B。意为：只要让他按自己的方式去做，他一定能够按时完成工作的。本题属于连词辨析：A in that“因为”；B as long as “只要”；C in case “万一，唯恐”；D as far as “就…而言”。
11. 选A。A 项swerve 意为“突然转向”；B 项twist 意为“掠过，迅速地一闪而过”，在用于表示“滑行”时，意为“车辆失去控制下的打滑”；C 项sliding 意为“滑动”；D 项slipping 意为“滑动，滑倒”，故A为正确答案。
12. 选D。意为：人造维生素和食物中的天然维生素完全相同。be identical with /to 意为“与…完全相同，与…完全相等”，是一固定搭配。
13. 选D。意为：我们必须加强自己部队的教育工作。heighten 意为“提高，升高”。intense 意为“强烈的，剧烈的，紧张的”。relieve 意为“减轻，解除，救济，换班”。intensify 意为“增强，变得尖锐”。
14. 选A。意为：价格可能上涨的前景已经引起了人们的焦虑不安。A provoke 激起，引起，对…挑衅；Birritate 激怒；C inspire 鼓舞，激起灵感；D hoist 举起，升起。所以选A .

15. 选A。意为：奥林匹克运动会在公元前776 年起源于希腊一个名叫奥林匹亚的小城镇。originate in 为固定词组，意为 “ 起源于”，其余三项不与in 搭配，只能与from 搭配。
16. 选B。意为：她穿着那件我常常赞美的，比她所有的衣服都漂亮的，装饰着漂亮花边的浅蓝色裙子。trim表示“装饰，点缀”的意思；ornament 表示“装饰，美化”的意思，用在句意中意思没有trim 贴切，furnish表示“布置( 房屋)”，decorate 意为“装潢”。
17. 选A。意为：instantly 意为“立即，马上”，instinctively 表示“教育地，有益地”；casually 表示“偶然地，随便地，临时地”；unexpectedly 表示“出乎意料地，想不到地”，根据上下文综合判断，选择A.

18. 选D。意为：在表示告知意义的单词里，inform 和 notify 后面接介词 of, 只有acquaint 接介词 with, instruct表示“教导，指导”，不符合题意。
19. 选A。意为：A项意为“几乎，差不多”，B项意为“几乎不”；C项意为“仅仅是，只是”；D项意为“几乎没有，仅仅，勉强地”。
20. 选 A。意为：政府坚决与把公地圈作私有的行为作斗争。enclosure 意为“围绕，圈地，围场”；disclosure意为“揭露，泄漏，败露”;exposure 意为“暴露，揭发”；encounter 意为 “ 遭遇，相遇”。
II. 1. away。他们相识至今已有四十年了。【解析】pass away 意为去世，度过，( 时间等) 过去
2. if。尽管他有病， 但他仍然去上班。【解析】even if 意为即使，尽管
3. in。他们成功地登上了月球。【解析】succeed in 意为在某方面成功
4. up。当她答应给孙子买玩具时， 她孙子立刻高兴起来。【解析】cheer up 意为高兴起来，振奋起来
5. by。几个月过去了，我们逐渐熟悉了这个陌生人。【解析】go by 意为( 时间等) 消逝
6. to。老师被比作园丁。【解析】compere to 意为比拟，比作
7. on。你试了你的外衣没有? 【解析】try on 意为试穿，试验
8. in。值夜班的人留在办公室，以防止火灾。【解析】in case 意为万一，在…情况下，以防
9. in。如果你打算看电影，最好预先订票。【解析】in advance 意为在前头，预先，事先

10. again。请再解释一遍。【解析】once again 意为再次

III.

Passage One

The main idea of the passage: So far, no one has solved the mystery of the Texas ghost-light.

The details supporting the main idea:

1) A mysterious light shines from a peak in southwest Texas.

2) The light does not always shine from the same place, but moving from point to point on the peak.

3) These also move about. Scientists have tried to solve this mystery too, but without success.

4) Suddenly a ball of light forced its way through this window opening, knocked the woman unconscious and burned her in a way no doctor had ever seen before.

Passage Two

The main idea of the passage: 

The little old lady was really a young man, Clarie Chenault, who later became the famous

commander of the Flying Tigers.

The details supporting the main idea:

1) Leaning on her stick, the thin old lady dressed in black made her way to the plane.

2) She was helped into the cockpit and then carefully strapped into the seat.

3) Before he could get up, the airplane, with no one on it except Grandma, went moving quickly down the field, sailed into the air, and headed for a row of trees.
